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A quantity x is given by (IFv?/WLY)in terms
of moment of inertia I, force F, velocity o,
work W and Length L. The dimensional
formula for x is same as that of :

Options :

40503640776. force constant

40503640777, NCTBY density

40503640778 coefficient of viscosity

40503640779 planck’s constant
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A small ball of mass m is thrown upward
with velocity u from the ground. The ball
experiences a resistive force mko”? where
v is its speed. The maximum height
attained by the ball is :

Options :
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A person pushes a box on a rough
horizontal plateform surface. He applies
a force of 200 N over a distance of 15 m.
Thereafter, he gets progressively tired and
his applied force reduces linearly with
distance to 100 N. The total distance
through which the box has been moved is
30 m. What is the work done by the person

during the total movement of the box ?

Options :

40503640784, 32801
40503640785, 2690 ]
40503640786, 2/80]

40503640787, 2220 ]
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40503640784, 2801
40503640785, 2690 ]
40503640786, 2/80]

40503640787, 2290 ]

Question Number : 4 Question Id : 40503611234 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Consider two uniform discs of the same

thickness and different radii R{=R and
R, =aR made of the same material. If the
ratio of their moments of inertia Il and sz
respectively, about their axes is
[ : I,=1:16 then the value of ais:

Options :

40503640788, 22

40503640789,
40503640790, %
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Options :

40503640788, 22

2

40503640789.

40503640790.

V2

40503640791.
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+— 60 com—

For a uniform rectangular sheet shown in
the figure, the ratio of moments of inertia
about the axes perpendicular to the sheet
and passing through O (the centre of mass)

and O (corner point) is :

Options : N
collegedunia:
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40503640794, 1/4

40503640795, 1/8
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40503640792.
40503640793, 1/2

40503640794, 1/4

40503640795, 1/8
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A body is moving in a low circular orbit
about a planet of mass M and radius R. The
radius of the orbit can be taken to be R itself.
Then the ratio of the speed of this body in
the orbit to the escape velocity from the

pla_m:-t ig*
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40503640796, 1

40503640797. V2

1
W]
40503640798. NE
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40503640799.
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40503640796, 1

40503640797. V2

Sl=

40503640798. -

40503640799, 2
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A cube of metal is subjected to a hydrostatic
pressure of 4 GPa. The percentage change
in the length of the side of the cube is close

o :

(Given bulk modulus of metal,
B=8x10" Pa)

Options :
40503640800.

I
=

40503640801, -6

67

(==

40503640802.

40503640803, °
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HTq % Uk TN << T 4 GPa #1 aifas®
(hydrostatic) =T TTTET STl 21 T W FR
Dl ?1'15!1—55 4 gfaea asag (percentage
change) 1 A% A1 2
(femm  : ug 1 A=A WoARSal 0N
B=8x10" Pa)

Options :

40503640800, 20

40503640801, 0.6
40503640802, 1-67

40503640803, 2
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Two identical cylindrical vessels are kept
on the ground and each contain the same
liquid of density d. The area of the base of
both vessels is S but the height of liquid in
one vessel is x 1 and in the other, Xs. When
both cylinders are connected through a
pipe of negligible volume very close to the
bottom, the liquid flows from one vessel to
the other until it comes to equilibrium at a
new height. The change in energy of the

system in the process 15 :

Options :

3
7 89S (2 —x)
40503640804.

40503640805. -

' 2
ds (x» + x
40503640806, © bz +x1)

1
— gdS (x2 — x }2
40503640807. 4
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40503640804.

40503640805. -

' 2
ds (x» + x
40503640806, © bz +x1)

1
— gdS (x2 — x }2
40503640807. 4
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Match the thermodynamic processes taking,
place in a system with the correct
conditions. In the table : AQ is the heat
supplied, AW is the work done and AU is
change in internal energy of the system.
Process Condition
() Adiabatic (A) AW=0
(II) Isothermal (B) AQ=0
(II) Isochoric (C) AU = 0, AW 20,
AQ=0
(IV) Isobaric (D) AU=0
Options :
10503640505, (0 - B (ID = (4), (I - (D), V) - (C)
40503640809. (TJ = {B], {Il'] 5 {D], (HI] 7 (A]r {IV] i (C]

Qcollegeduniaé
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& Tt ot 3 e fre T 2 AT S
WS 1 ST s F e w5 | w@
AQ T =1 =i STH =Teil o1, AW T T
a4 AU 1/ &t s1aiies e ° 9Redq
TN & |

ufeRar AT
) *5m™ (A) AW=0
() w=as™  (B) AQ=0
(I FHAAAEE (C) AU 20, AW 20,

AQ =0

(IV) T=e=l (D) AU=0
Options :

10503640808, U~ (B) (ID - (A), (ITT) - (D), (IV) - (C)

40503640809, (I - (B), (1I) - (D), (IT) - (&), (IV) - (C)
10503640810, D = (&), (IT) - (A), (TT) - (B), (IV) - (C)

40503640811, (D = (A), (IN) - (B), (1) - (D), (IV) - (D)
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The driver of a bus approaching a big wall
notices that the frequency of his bus’s horn
changes from 420 Hz to 490 Hz when he
hears it after it gets reflected from the wall.
Find the speed of the bus if speed of the
sound is 330 ms L

Options :

e 1
40503640812, /1 kmh

1
40503640813, 51 kmh
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1
40503640814, 91 kmh

2 1
40503640815, 01 kmh
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UF 99 IF F FH 39 AR A6 E F =
I 99 UF T2 SHER 1 AR =7 W E A 39E
& W1 w9 = Agia, 91420 Hz ¥, SarR 9
TS g dJTeTs 1 490 Hz &1 JATE J=dl
&1 afz waft =t 7ifd 330 ms ! & o =79 H=;
T % :

Options :

rr 1
40503640812, /1 kmh

1
40503640813, 51 kmh

1
40503640814, 91 kmh

2 1
40503640815, ©1 kmh
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A particle of charge q and mass m is
subjected to an electric field E=Ey(1— ax?)
in the x-direction, where a and E{] are
constants. Initially the particle was at rest
at x=10. Other than the initial position the

kinetic energy of the particle becomes zero ,
- _ collegedunia:
when the distance of the particle from the a6 g SR RYSTo PG

nrigin 15 :

Options :



40503640816, 4

40503640817. Va

40503640818. Va

40503640819. Va
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FHA m G &Y q F TH F0 W TH
faga &7 E(x)=Ey(1—ax?), i1 x- fgwm # ,
TR A R | AR W a a4 E,, fewE
A= H w0 x = 0 G farraraen | 2 |yt
SATE & Al 9o Tag 9 &0 & 59
T 0] T A Sl I 2R 2

Options :

40503640816. @

L

40503640817. Va

'E

I_
40503640818. Va

. 5
=
40503640819. Va
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A capacitor Cis fully charged with voltage
Vg After disconnecting the voltage source,
it is connected in parallel with another
uncharged capacitor of capacitance 35 The
energy loss in the process after the charge

is distributed between the two capacitors

1S :
Options :
S 3
40503640820. ~
Loy

40503640821,

2 5
—ovg
40503640822.
2 o
— v
e Vo
40503640823.
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U I C o |l 1 fava v, | snaivE
= = {: = = - =

FF T TR — TR o STATETe Wi |
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Options :

> Vg
40503640820, “

40503640821, 2
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1 i
1 ovg
40503640822.

40503640823.
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A circular coil has moment of inertia
0.8 kg m?> around any diameter and is
carrying current to produce a magnetic
moment of 20 Am2. The coil is kept
initially in a vertical position and it can
rotate freely around a horizontal diameter.
When a uniform magnetic field of 4 T is
applied along the vertical, it starts rotating
around its horizontal diameter. The
angular speed the coil acquires after
rotating by 60° will be :
Options :

Y 1
40503640824, 20 Tads

1
40503640825, 10 rads

1
40503640826, 2V mrads

f 1
40503640827, 10 Trads

Display Question Number : Yes Is Question Mandatory : No Single Line Questio
Orientation : Vertical
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UF AR F2cll &1 SHE ™ & 9196l T2
STVl 0.8 kg m? & 31X OH 9 ATl o
YT 3 0] SHEHT T S0 20 Am? B
Y H YN Ghdl € IR A H 30 AR
AT H @ T E | T A R UH4AT HA
UF HF T=HE g9 S foom 3 e
AT 7, 1 T A dfqw = F =96 S g
T E 1 60° FT H YA W FZeAl F FH0
o F

Options :

1
40503640824, 20 Tads

1
40503640825, 10 rad s

1
40503640826, 2V mrads

10mrads !
40503640827.
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A paramagnetic sample shows a net
magnetisation of 6 A/m when it is placed
in an external magnetic field of 04 T at a
temperature of 4 K. When the sample is
placed in an external magnetic field of
0.3 T at a temperature of 24 K, then the

magnetisation will be -

Options :
40503640828, +A/m
40503640829, =20 A/m Q collegedunia:

40503640830, 1 A/m



40503640831, 0.75 A/m
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SE ATIESE Y919 9 91 UH T wl
4K TT9HM W04 T AF & 9= T &
H T o g, 1 59 W 30 g9 H TH
6 Am~1¥| Ifg H F97 =1 24 K T9HH W
0.3 T HM % T=+H1T &5 § @ o O 5949
I G F1 HH 20

Options :

40503640828, +A/m

40503640820, 220 A/m

40503640830, 1 A/m

40503640831, 0.75 A/m
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A series L-R circuit is connected to a battery
of emf V. If the circuit is switched on at
t=0, then the time at which the energy
i
stored in the inductor reaches k;) times

of its maximum value, is :

Options :
Ly [ 1}
— In| ———
40503640832, B\ vn g collegedunia:
L . yn +1)
R kyn—3
40503640833. Lk d



40503640834. v /

Il

40503640835.
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TF JiEs L-R 99" i faga aes 9
V F TF d20 F We o g1 At a9
t=0 W 59F fag =1 @[ 0 99 91 39 999
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B &
Hf%ﬁHTTHEETLEJ e B

Options :
L In —\E l\‘
40503640832. B L ~n )
L JH |1W
e ]-.I‘I Y o
40503640833, X \vn — 1)
| & s
% In ,_\n
e —1
40503640834. e
L ( Jn o)
R \vn +1)
40503640835.
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The electric field of a plane electmmagnetic

wave is given by

E=E,(x+y)sin(kz ~wt)
Its magnetic field will be given by :
Options :

r':.cg"l.

0 (%4 j}]sm(kz wt)

40503640836.

h{:{: fj]sﬁ‘u{kz wt)
40503640837. ©

%{ x+y)sin(kz —wt)
40503640838

E{x j}]cos{kz wt)
40503640839. ©
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U gHqel faga-grEsg 9 & f9ga o=
E=Ey(x+y)sin(kz—wt) &1 THH T=H

& E:?FTT -
Options :

h(Jc I j}]ﬁfﬂ(kz wt)
40503640836. °©

(% iy )sin (kz— wt)
40503640837. *

%{ x+1)sin(kz —wt)
40503640838.
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E M M
—0(x—y)cos(kz—wt)
40503640839. ©
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In a photoelectric effect experiment, the
graph of stopping potential V versus
reciprocal of wavelength obtained is shown
in the figure. As the intensity of incident

radiation is increased :

Options :
40503640840. Graph does not change
40503640841 Straight line shifts to left

40503640842 S’r_raight line shifls to r‘ight

Slf}pr_- of the straight line get more

40503640843, Steep
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9 fae@ 99E & UF WM & fad A
v =1 Tie % Fopg & A1y fa= fa=
T = TTE I =90 T | A WA H AT
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I/

Options :
40503640840, A Tel ==edT |

I | femr T i T || i)
40503640841, LTI 1 ST |

o § femrE T |t T e SR
40503640842, TV BT S

femardl T |4 W F 2 °9Y 98
40503640843, STAT |
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Find the Binding energy per neucleon for

2'Sn. Mass of proton m,=1.00783 U,

mass of neutron m =1.00867 U and mass
of tin nucleus mg =119.902199 U.

(take TU = 931 MeV)
Options :
40503640844, 8:0 MeV

40503640845. 7.5 MeV

40503640846, 80 MeV

40503640847, -0 MeV
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fa & afvww Vg & o wfa feeam
= St TRt 2t ? I faan gan & fo werA
1 F=H m, =1.00783 U, =IgH 1 F=HH
m_=1.00867 U i fea1 & Tfera #1 5=

mg, =119.902199 U
(1U= 931 MeV &)

Options :

40503640844, 8-0 MeV

40503640845.

7.5 MeV

40503640846, 5> MeV

40503640847.

9.0 MeV
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Identify the operation performed by the

circuit given below :

A —

B o«

Coe—

Options :

40503640848.

— L=~
0O .
i “—
\_,-—\
o
NOT

40503640849, AND
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40503640850, OR

40503640851, [NVAND
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= fo2 T3 uftay % g fod =T =l |iwan
(operation) il 8T L

-
Ae——1 | >
B -—_;_j - ] Jo—
Cs— [ I o
—
Options :
40503640848. ol

40503640849, AND

40503640850, OR

40503640851, [NVAND
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The value of current i; flowing from A to

C in the circuit diagram is :

WaEh

Options :

40503640852, 1 A

40503640853. L

40503640854, + A

40503640855, 2 A
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o7 T afmg H A9 C F AR 98 [t
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Options :

40503640852, 1 A

N, :
rie Mo
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40503640853. i

40503640854, + A

40503640855, 2 A
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Question Number : 21 Question Id : 40503611251 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The speed verses time graph for a particle

is shown in the figure. The distance

travelled (in m) by the particle during the

time interval t=0 to t=5 s will be

10+
u 87 /"K
ms—1y 67
sl
21 ///,
12 3 45
Hme —
(s)
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B e i femrn T ¥ gy S
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10+
u 87 /
{ms_lj'ﬁ" rd
41
4 g
s
1 208 & &
g
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The change in the magnitude of the volume
of an ideal gas when a small additional
pressure AP is applied at a constant
temperature, is the same as the change
when the temperature is reduced by a small
quantity AT at constant pressure. The
initial temperature and pressure of the gas
were 300 K and 2 atm. respectively. If
AT|=C|AP| then value of Cin (K/atm.) is
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range g .
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ek 37 719 9 e drawmE 9 ey 91 SAfafiaa
TAE AP TH W THE AEAT H B el
TR 30 E E, 99 59 TH F aEE R
Tad T 412 |1 (AT) FH FU S| 19 H
AR AYHM 9 S99 HEM: 300 K 3R
2 AgHEHEE 29 (a tmospheric pressure) =+
T ¥ A |AT|=C|AP| &1, &1 C =1 9F
(K/amg=d 3@ H) g |
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A i RS
90 (} 1, _ififl 110 £}
. D

|
I
40V

Four resistances 40 (1, 60 (1, 90 {} and
110 €2 make the arms of a quadrilateral
ABCD. Across AC is a battery of emf 40 V
and internal resistance negligible. The

pf}tential difference across BD in V is
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B
200 7, 600

o

;-‘EI- $ fﬂ M‘L-.'?"‘"
00 % 1100
R A

D

[
[T
40V

IR gfcdige f5e 9fads 40 Q, 60 O, 90 Q
3R 110 O T, UF =g« ABCD F &R ¥
ST ¥ (fod 3d) AC W u =0 ot g8
& g fae@-a=s® 99 40 V 991 AidiE
WS Y €1 B 3R D F = favara (e
Hysrmo
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The distance between an object and a screen
is 100 cm. A lens can produce real image
of the object on the screen for two different
positions between the screen and the object.
The distance between these two positions

is40 cm. I the power of the lens is close to

. o
[ 1[}[_} |D where N is an integer, the value
LY (-ll

of N is

.
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U 9] A Uk US % 19 1 g 100 cm B
T4 R I F = < 9 T R 9 W)
U o9 39 9% T U W andias giaree
T | Eﬁ@ﬁ?#ﬁaﬁaﬁ%cm%l

4

..f
gfe @9 =1 i 9T |_1uu D ®i
\ A

(N T QUi &) 9T N F19H & |
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Orange light of wavelength 60001010

m illuminates a single slit of width

0.6 %10 % m. The maximum possible

number of diffraction minima produced

on both sides of the central maximum is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes i
collegedunia:
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T 6000% 10~ 10 m =1 AR THI TH
fori, ot 49=E 0.6x10~4 m ©, &l
THIHA L @ 81 SHY T Al H=id
HeHq & =l ¥R faada 53 § genfaq
SAgFaa fha faad % =g9a9 (diffraction
minima) 2 I
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A sample of red ink (a colloidal suspension) gcolle gedu nia
is prepared by mixing eosin dye, egg white, @ Temmm—
HCHO and water. The component which

ensures stability of the ink sample is :



Options :
40503640861, Cosin dye

40503640862, 88 White

40503640863, HCHO

40503640864.
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AT TE (UF FIEAGE (dad) & UF gfagsl
=+ 5T 9%, 37 H kg 9, HCHO
91 S H THET FOF " S g e
wiaeel & Tenfae #1 ghfrad w3 awen s
Options :

40503640861, SeITaA {5/

40503640862, A= I Hha HIT

40503640863. ELER)

40503640864, A
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250 mL of a waste solution obtained from

the workshop of a goldsmith contains
0.1M AgNO;and 0.1 M AuCl. Thesolution
was electrolyzed at 2 V by passing a current
of 1 A for 15 minutes. The metal/metals

electrodeposited will be :

[0
Ag' /Ag

Options :

40503640865.

40503640866.

40503640867.

40503640868.

— 080V, E? —1.69 ﬂ

Aut/Au ).
only silver

silver and gold in equal mass

propor bon

silver and gnld in proportion to their

atomic Weights

DI"II}-‘ gr:-l::l
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T GAR 1 FEI | W UF A9 faera=
%250 mL H 0.1 M AgNO; 41 0.1 M AuCl
£ A 2V WTF 1 A 1 fagd um
15 T2 o yanfed +%F 990 Tafed
T o/ 9IgY W S fefa 2/ e,

%f%:

E0
Ag’ /Ag

Options :

40503640865.

40503640866.

=080V,E® . =169 ﬂ
Aut/Au )
7 =iat
=il 991 WA T9E Hafd F FEedd |
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g

40503640867.

40503640868, 1A HII
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lt'ﬂ'nr_-equil’i‘hrium«cu:)»ruata_ntfu::tr'.-ﬂnL s R4 C

f : , . 1@
is I\H_I and thatof B+ C = P is kﬂ_l,ﬂ\r_-

equilibrium constant for A — Pis:
Options :

KD 4+ x@
40503640869, eq

KO k®
40503640870, 10

KO @
40503640871, ™ ™

¥@ _ g
40503640872, - ™
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A A = B+ C F fau wmw feriw K{)

TMB+C — P HfawKY g A =P
% o g feewi 2
Options :

KD 4+ x@
40503640869. =

D /@
40503640870, 10
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KD k@
40503640871, M ™

K@ _ g
40503640872, b
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Five moles of an ideal gas at 1 bar and
298 K is expanded into vacuum to double
the volume. The work done is :

Options :

40503640873, ZETO

~RTInV,/V,

40503640874,
S P AR T
40503640875. RT (V2 — V)
Cy(T=Ty)
40503640876.
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U e 9 % U= HiA &I 1 bar a9l
298 K W i ¥ 39% 99 & T %
e faan T T T e
Options :

40503640873. =

e ') T
40503640874, "1 InVo/Vy
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The molecule in which hybrid MOs involve
only one d-orbital of the central atom is :
Options :

oAy 12
40503640877, LNHEN)4]

40503640878. BrFs5

[CrF )3
40503640879, ' ¢

40503640880, <eF4
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], T9E® G MO H F=@E A &
A UF d-FF Ao g, ¥

Options :

oAy 12
40503640877, LNVHEN)4]

40503640878. BrFs5

[CrF )3
40503640879, ' ¢

40503640880, <eF4
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The shortest wavelength of H atom in the

L}-'ma_n series is b i The Iongr:-st wavc-lc-ngﬂ'n

in the Balmer series of He ™ is:
Options :
36),

40503640881.

40503640882.

40503640883.

40503640884, 2

Question Number : 31 Question Id

: 40503611261 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
H T &1 Tay Biel e @A g §
N, F1 He* =1 9T S0t F Tl o qimne=

T

Options :
36),

40503640881.

40503640882.

40503640883.

40503640884, 2
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The process that is NOT endothermic in
nature 1s :

Options :

H'[i_’-:l' Feo @ — H':E}

40503640885.

Ar. +e — Ar,.
40503640886, &

O & ks

i) ()

40503640887

.Na R [\ia*, + e
40503640888, & (&)

Question Number : 32 Question Id : 40503611262 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
o W TEHIEE:; ST ST A8l @
Options :

H'[f-} Fe — H{;}

40503640885,

Ar .y +e — Ar
40503640886, &)

O 4& i

[."'_:.' {L'}

40503640887.

.I.\Ja A = Na*, - e
40503640888, &) (&)
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An alkaline earth metal ‘M’ readily forms
water soluble sulphate and water
insoluble hydroxide. Its oxide MO is very
stable to heat and does not have rock-salt
structure. M is :

Options :

40503640889, M8

40503640890, Be

40503640891, <2

40503640892, OF
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T RE a1 o91q ‘M Iisarge s sio-faed
AeRe a9 Wol-Afaerd TSSIaEEe sA €|
T AEEEE MO 51 % 9fa sAfaeeart @
1 WS T A H AR e gl M B
Options :

40503640889. M8

40503640890, Be

40503640891, <2

40503640892, OF
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The reaction in which the hybridisation of < T

the underlined atom is affected is :
Options :



XeF, + SbFs5 —

40503640893,
= M e
40503640894, = ==
i - B
40503640895, — -
' H.PO Disproportionation
3P O,
40503640896,
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sAfferen forosl it TaT) = e genfaq

Bl S&»‘Z g
Options :

XeF, + SbFy —
40503640893, —

H,S0, + NaCl —22K,
40503640894,

o H'

NH;
40503640895, — -

Ha PO, — A0
40503640896.

Question Number : 35 Question Id : 40503611265 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

.
gcollegedunla@
India’s largest Student Review Platform



The incorrect statement(s) among (a) - (c)
is (are) :
(@) W(VI) is more stable than Cr(VI).

(b)  inthe presence of HCI, permanganate

Htrations prf}vidr_- satisfacmr}-' resulls.

(c) some lanthanoid oxides can be used
as phosphors.
Options :

40503640897, (@ only

40503640898, (P) only

40503640899, (3) and (b) only

40503640900, (P)and (c) only
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FUA (a) - (c) H H TeAd 9T 2/ F
(a)  Cr(VI) T 319en W(VI) Zaferes i 2
(b) HCl =1 3ufterfq ®, Wi 3 Ema

Tarye gfom 29 2
(c) TP VI_HFMEE AEEEEl F1 FIOFRI &I
TE I9AN H o TFd 2

Options :

40503640897, (@)

40503640898, () A

40503640899, (@) T (b) A

40503640000, (D) T (€) ¥
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The Crystal Field Stabilization Energy
(CFSE) of [CoF5(H50),4] (Ap<P) is:
Options :

—08 !
40503640901. B

40503640902, % Ao

i A 4P
40503640003, 0B Ap+2P

~04 A, +P
40503640904,
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[CoF,(H,0),] =i for=er 4= Tmisrao st
(CFSE) (A,<P) ¥ :

Options :

40503640001, 0% Ao

40503640902, 0.4 49

— /! .
40503640903. G

~04 Ay+P
40503640904.
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The one that can exhibit highest
paramagnetic behaviour among the
fnllﬂwf_t'lg ig

gly = glycinato; bpy =2, 2'-bipyridine

Options :

40503640905, 1L A(E1Y)2]

40503640906. [Fe(en)(bpy)(NH,),]**
40503640907, [COOX,(OH)] ™ (89> P)
40503640008, | INFl”
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Treafafad 9 9 =57 = 9ad A7 Saasa
FER Yarvd FI S, ©
gly =TSl bpy =2, 2'-

Options :

40503640005, L A(81y)2]

40503640906, Fe(Em(bpy)(NH;),1*

40503640907, 1COOX)(OH),] ™ (89 > P)
_ »

40503640908, | HNH3)e]
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The processes of calcination and roasting N

in metallurgical industries, respectively,

can lead to:



Options :

40503640909 Global warming and acid rain

Global warming and photochemical

40503640910, SMO§

Photochemical smog and global
40503640911, ‘Varming
Photochemical smog and ozone layer

40503640912, depletion
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IAFHE UM H, e e 9s[ & 9%E
HAT: Y2 HE T
Options :
40503640009, ¥ AT T St e

EIFEEIG NG| A4 HEHEES A
40503640910. k7

THIIAHEF gHET CIEEE G IR R |
40503640911, : 220

TFHEEE JHFE] a9 ASH T &

40503640912, =T
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Among the following compounds, which )
one has the shortest C—Cl bond ? Qﬁo!lgesgdequﬂli

Options :



HaC,

H;C——Cl
40503640913. CHj
40503640914, HC—Cl

P e
f|;_|—1
40503640915, 12

HC

40503640916. CH,
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frafafaa I § 49 faad C—Cl ==y
Had BT e ?

Options :

H;C
H,C——Cl
40503640913. CH,

40503640914, HaC—Cl

f_,fC'l

f]f.H

CH,

40503640915.
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Which of the following compounds will
form the precipitate with aq.AgINO,
solution most readily ?

Options :

-
40503640917. S

B

|, r

N

il

40503640918.
40503640919, — O Br
40503640920. OCHjz
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frafafaa af § & F@ S&@ AgNO,
foaeram F W19 Tad virsayEs 2Ea 2 2
Options :

)

40503640917.
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~Br

N.
N
40503640918.
40503640920. OCH,

Question Number : 41 Question Id : 40503611271 Question Type : MCQ Option Shuffling : Yes
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The major product [B] in the following

reactions is :
fllH;a
CHS —CHE —CH- CHE —DCHE . CI—I3

S T i o
| SO
Heat ~ 1] 2lcohol =3~ [B]

Options :
.
40503640021, CHla—CH=C—CHs

40503640922, “H2=CH,

CH, —CH, - CH=CH~-CH,
40503640923, - 2 :

CH,

|
40503640924, CH3—CHy—C=CH, g collegedunia:

Question Number : 41 Question Id : 40503611271 Question Type : MCQ Option Shuffling : Yes
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Orientation : Vertical
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ffafan sfufFmaedi § q=2 3a= [B] ® -
CH,
CH, —CH,—CH—CH,—OCH,—CH,

HI . H,80,

g (AT —— [B]

Options :
cH
40503640921, 113~ CH=C—ClH;
40503640922, 2= CHa
H, - CH, - CH =CH-CH,
40503640923, : 2 :
(|;H3

40503640924, T3~ CH—C=CHy

Question Number : 42 Question Id : 40503611272 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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In the following reaction sequence, [C] is :

NH,

~~_ (1) NaNO,+HC], 0-5°C
(O > [A]
] (ii) Cu,Cl,+HCI

CHy

Cly Na+dry ether .
h » [B] 2 » [{]
v (Major Product)
Options :
CH:{-_::; ol —x ) f»— CH,

40503640925, el

.
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c,— O~ O Y—cH,

40503640926. Cl Cl

o

. N
Cl— (O —CH,— () —CH,—C(l
RNk

40503640927.
'.fz' x\"'" - '\-. B
Gl {3 F—LCH— (‘.Hz—'\i___;— Cl
40503640928. — '

Question Number : 42 Question Id : 40503611272 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

fefafaa sfafern sawa 4, [C] &

NH,
fl (i) NaNO,;+HC], 0-5°C
& > [A]
rf‘ (ii) Cu,Cl, +HCI
CH,
Cl, Na+ I §91 ]
> [B] » [C]
(=9 37915
Options :
f f —~ o ~
CH;—\ O — O —CH;
R S

40503640925.

CH 24({ ) .':Z:—Z{ 3 ":}— CH,
40503640926. ¢l Cl

.

Fooak .
c— O —CH,— O —CHy—dl
40503640927 e N "/

’
LA

I\
Cl— () —CH,—CH ) —a
"-._ / ¥ ’ L
40503640928. — __\L—J
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Question Number : 43 Question Id : 40503611273 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The mechanism of action of “ Terfenadine”
(Seldane) is :
Options :

40503640929, Inhibits the secretion of histamine

40503640930, Helps in the secretion of histamine

4050364003 1. Activates the histamine receptor

Inhibits the action of histamine

40503640932, Teceptor

Question Number : 43 Question Id : 40503611273 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
YA (TETEA) % I EAar
£

Options :

10503640070, TETT o Ere 1 Torlifera <kt €

40503640030, 2T o T H TR FLA T

4050364093 1. TR -l 1 Bl e 2
feefm-atfvmeE =1 e =1 i
40503640932, Hd |

gcollegedunia@
Question Number : 44 Question Id : 40503611274 Question Type : MCQ Option (T S
Display Question Number : Yes Is Question Mandatory : No Single Line Questio

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

a IS



The major product [R] in the following

sequence of reactions is :

(i) LiNH,/ether

HC=CH -
(i) HsC
CH-Br
{CHE,:]ECH
(1) HgS0,/H;50, Cone. H,50
204/ Hy 1, 10] 2504 Ry
(ii) NaBH,
Options :
H,C
i 8
C=CH-CH,4
/ 3
40503640933, (CH3)2CH
HC
C—CH,—CH
B g = 3
40503640934, H(CH3)
H,C
C=C(CH
D e
40503640935, 1 13CCH:
H,C
CH-CH=CH,
CHs) cH
40503640936. (CHs)

Question Number : 44 Question Id : 40503611274 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

.
gcollegedunlaé
India’s largest Student Review Platform



Trfefaa sAfafera-1Fa 4 7= 39T [R]

g
) LiNH, /%o
o= O HNHL/E > [P]
(ii) HaC
’ \\‘:H—Br
(CH5),CH
W) HegOa/ 20 &% H,S0
it ‘H[Q] 2 4=[R]
(ii) NaBH, A
Options :
H,C
N
C=CH-CH;
o %
40503640933, (“H3)2CH
HC
C—CH,—CH
i 2 3
20503640934, T(CH3)
H.C
3 KE_C((.'H]
grie(CEl)
40503640935, | 3CCH2
H,C

/
CH.),CH
40503640936, (CH3)2

Question Number : 45 Question Id : 40503611275 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The major product [C] of the following

reaction sequence will be :

(i) NaBH, ©
CH,=CH—-CHO — GIA] == - [B]
AlCly
LLNG
Options :
::‘jﬁ/\(\‘xﬁr
o
40503640937. = D
_.-r"ﬁ-. ___.-"'.""'\-\.‘_H_
i 5
40503640938. ’ Br
1‘3r
L~
40503640939,
Br
or Y
40503640940. -~ D

Question Number : 45 Question Id : 40503611275 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
freferfan stfufsmen-argFa § g2 5e01e [C]
T

(i) NaBH, (O)

o[Al —
(i) SOCI, =l i [B]

Al gcollegeduniaé
DE I" India’s largest Student Review Platform

—_ [CI =

CH,=CH-CHO

Options :



40503640937, D
By
40503640938.
1‘3r
- ) ]
40503640939. &

Br

40503640940.

Sub-Section Number : 2
Sub-Section Id : 405036788
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 40503611276 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

A 100 mL solution was made by adding
143 gof Na,CO, - xH,O. The normality of
the solution is 0.1 N. The value of
xis

(The atomic mass of Na is 23 g/ mol)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

.
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Na,CO, - xH,0 & 1.43 g %1 fHema
100 mL =1 Ush foe@= == T faeaq &t
T 01N Bl x FHA© |
(Na i T Hafd 23 g/ mol )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 t0 5.002

Question Number : 47 Question Id : 40503611277 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0

The osmotic pressure of a solution of NaCl

is 0.10 atm and that of a glucose solution

is 0.20 atm. The osmotic pressure of a

solution formed by mixing 1 L of the

sodium chloride solution with 2 L of the

glucose solution is x X103 atm. x is
. (nearest integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Possible Answers :

5 t0 5.002

Question Number : 47 Question Id : 40503611277 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0

NaCl % T& f9ea %1 T 314 0.10 atm
€ T TEE F U FeEd w1 W =
0.20 atm 1 Hifzaq Feiise F fae@m + 1
L I TelehiE o faer@d & 2 L | e a9
T a1 WA 39 € xx 10 -3 atm. x
¥ (Trerzam yuiih) |

Response Type : Numeric

Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.002

Question Number : 48 Question Id : 40503611278 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

The number of molecules with energy
greater than the threshold energy for a
reaction increases five fold by a rise of
temperature from 27 °C to 42 °C. Its
energy of activation in J/mol is
. (Take In5 =1.6094 ;
R=8.314 ] mol 1K1

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 48 Question Id : 40503611278 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

e sAtafer §, ST, fament S5, Seel S
F1 e SAfF €, IHF HEA A9 F 27 °C
Y 42 °C T =& T 9= A 7 Tl €1 THH!
Hfsau =i (J/mol ®) & |
(A, In5 =1.6094) ; R=8.314] mol ~ 1K~ 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :
5 to 5.002 gcollegedunlaé

Question Number : 49 Question Id : 40503611279 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0



Consider the following equations :

2Fe?* +H,0, - xA+yB

(in basic medium)

2MnOy4 +6H F 451 1009 —x' C+y' D+2Z'E
(in acidic medium)
The sum of the stoichiometric coefficients
x, ¥, x', y and 2’ for products A, B, C, D
and E, respectively, is I

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to0 5.002

Question Number : 49 Question Id : 40503611279 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

ﬁ fﬁ s xv_q_{r- nﬁ .
2Fe?* + HyO, —» xA+yB
(AT H1=mE H)

2 MnOjg +6 HY +5Hy0p » ¥ C+y D+2'E
(=7t w1y )

A, B, C, D a4 E 391el & feu wHw:
TSRS T x, y, ', iy 991 2 1AM
¥ |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

, , _ _ gcollegeduniaé
Question Number : 50 Question Id : 40503611280 Question Type : SA Display Qr Wadid abadi Swdont Review Platform
Correct Marks : 4 Wrong Marks : 0



The number of chiral centres present in

threonine is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 50 Question Id : 40503611280 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

fuaef # Suferm Fea F #1 wen ¥

I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText
Possible Answers :

510 5.002

Mathematics
Section Id : 405036411
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25
Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036789
Question Shuffling Allowed : Yes
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Question Number : 51 Question Id : 40503611281 Question Type : MCQ Option -
Display Question Number : Yes Is Question Mandatory : No Single Line Questio. _, .= . ______
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



50 n
UX;,=UY =T, where each X:‘
i=1 i=1

Let

contains 10 elements and each Y:‘ contains
5 elements. If each element of the set T is
an element of exactly 20 of sets X,'s and

exactly 6 of sets Y.'s, then n is equal to :
Options :
40503640946. 15

40503640947, 30

40503640948, 45

40503640949, U

Question Number : 51 Question Id : 40503611281 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
: 50 n & a -~
T UX; = UY, =T & & 9% X, #
1=1 1=1
10 393 EqA T4 Y, A5 AT 2| AR T
WWWWED,KEWWW
W%HWWH,YEWWW H999
%, ql nF A % :
Options :
40503640946, 15

40503640947, 30

40503640948, 45

40503640949, U

Question Number : 52 Question Id : 40503611282 Question Type : MCQ Option

.
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Display Question Number : Yes Is Question Mandatory : No Single Line Question wpuvu « ivo Upuun

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1



Let A = 0 bein R. If a and B are the roots
of the equation, ¥ —x+2h=0and a and vy

are the roots of the equation,

3x2—10x+ 272 =0, then B—: is equal to :

Options :

40503640950, -0

40503640951, 27
40503640952, 18

40503640953, 92

Question Number : 52 Question Id : 40503611282 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A A =0, RH 1 99 o 791 B THiHW

[

2 —x+20=0F o & IR o T4y, THEI

m#—un+xm=n%qﬁ%jﬁ%}HWﬂ%:

Options :

40503640950, 0

40503640951, 27
40503640952, 18

40503640953, ¢

Question Number : 53 Question Id : 40503611283 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Questio

Orientation : Vertical "
Correct Marks : 4 Wrong Marks : 1 CQHESEdunlaé



If a and b are real numbers such that

1+i3

(2 +L‘l‘.:|4 =a + ba, where o = S

then a +b is equal to :
Options :
40503640954, ¢

40503640955, 2+

40503640956, 33

40503640957, 27

Question Number : 53 Question Id : 40503611283 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
gfg a 991 b UM amafas =AW T f®

{2-1-&]4=a+1m%, el o = l+hﬁ 7

a+b =l HH % :
Options :
40503640954, 9

I3
W

40503640955.

40503640956, 3

40503640957, 27

Question Number : 54 Question Id : 40503611284 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Questio

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1 gcollegedunla@



If the system of equations

xty+z=2

2x +4y—z=6
Ix+2y+Az=

has infinitely many solutions, then :

Options :

40503640958.

40503640959.

40503640960.

40503640961.

L

Question Number : 54 Question Id : 40503611284 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ifz T &+
xt+y+z=2
2x+4y—z=6
x+2y+hz=p
FITAEAE,
Options :
B TR
40503640958, T 2H= 7O
Y= :
40503640959, Mt 2Zp=14
.
40503640960, 2N TH=3
i) — 7
40503640961, M TH=14

Question Number : 55 Question Id : 40503611285 Question Type : MCQ Option

.
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Display Question Number : Yes Is Question Mandatory : No Single Line Question upuon : N0 Upuon
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Suppose the vectors x, x, and x, are the
solutions of the system of linear equations,
Ax=Db when the vector b on the right side
is equal to hl, b2 and h3 respectively. If

1 0 0 1
=11l =12Lx3=|0| 1 =|D],
1 1 1 0
0 | 0
b, =|2|and b3 =|0|, then the

(0 2

determinant of A is equal to :

Options :
1
40503640962, 2

40503640963, 2

MW

40503640964.

40503640965, 4

Question Number : 55 Question Id : 40503611285 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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A TG xy, x, T 1, TGF FHE 14
Ax=b ¥ T@ ¥, Vaf® 3 AR F AW
b, A by, b, AT b, F aEX T AT

1 0 0 1
¥ =|1 =2, %=(0],b;=|0].
1 1 1 0

b, =|2|@M by =|0| ¥ W A F Anrfors

FAAE :
Options :

B | =

40503640962.

40503640963, 2

MW

40503640964.

40503640965, 4

Question Number : 56 Question Id : 40503611286 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If for some positive integer n, the
coefficients of three consecutive terms in
the binomial expansion of (1 +x)"* 2 are in
the ratio 5 : 10 : 14, then the largest
coefficient in this expansion is :

Options :

40503640966, 292

40503640967, 330

40503640968, 462
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40503640969, 792

Question Number : 56 Question Id : 40503611286 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

M fFel g n % fae, (1+x)" 5%
598 WER H M AT 981 % [OE 5 10 :
14F S04 9 € O 39 TR H g9 g =72
Options :

40503640966, 292

40503640967, 330

40503640968, 462

~]
=]
=]

40503640969.

Question Number : 57 Question Id : 40503611287 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Let - TP Fp— , 8y be a given A.P. whose
common difference is an integer and
5"=al+az+ ..... i Ha1=1ra"=3[]{] and

15 = n = 50, then the ordered pair

(5, 4 a,_4) isequalto:

n
Options :

3, .,
40503640970. (2490, 248)

. ",
40503640971. (2450, 249)

40503640972, (2490, 249)

40503640973. (2450, 248)
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Question Number : 57 Question Id : 40503611287 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
HH a4, a,, ... ,aliﬁﬁﬁwﬁﬁlﬁﬁ%
fFg®1 FIEHAT TF qUfH & 790
5"=a1+a2+ ..... -I-a"'%l ?ﬂ:c!alzl,anzf}[][]
91 15 = n = 50 €, @ &fAa g
S, 42, ) TEE:

Options :

3, .,
40503640970. (2490, 248)

) 7
40503640971. (2450, 249)

40503640972, (2490, 249)

40503640973. (2450, 248)

Question Number : 58 Question Id : 40503611288 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let f: (0, ©)—(0, =) be a differentiable
function such that f(1)=e and

lim @) -0 _

t—x L

0.

X
If f(x) =1, then x is equal to :

Options :

40503640974. ©

1

40503640975. €

.
gcollegedunlaé
India’s largest Student Review Platform

40503640976, 2€ .



')
2e
40503640977.

Question Number : 58 Question Id : 40503611288 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

HA f: (0, ©)—(0, =) TH TH FTH114
e € 5 f(1)=c T

lim U/70) Z 070 _ ¢ af fr)=1

i t—x
%, Al x F HA % -
Options :

40503640974, ©
1
40503640975. €

40503640976, 2€
b |
2e

40503640977

Question Number : 59 Question Id : 40503611289 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The function f(x) = j

15 :

Options :

both continuous and differentiable
on R —{1}.

40503640978.

b3 | = 4-_~.|:'|‘

.
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continuous on R-{-1} and

continuous on R-{1} and

both continuous and differentiable

40503640981, OnR—{—1}.

Question Number : 59 Question Id : 40503611289 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

|— +tan"'x,|x| =1
W,f{xhjj

Options :

R— {1} ¥ Tad 3 aFed, eFi, €

40503640978
R—{-1} ¥ ®dd @M R—-{-1, 1} #

40503640979, ST €1

R—{1} ¥ ¥ad aam R—{-1, 1} &
40503640080, TP B

R—{-1} ¥ Haq 3R HaeherE, S,
40503640981, €

Question Number : 60 Question Id : 40503611290 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The minimum value of 257 4 2€05% jg ; Qcollegeduniaé
India’s largest Student Review Platform

Options : )
. 1
2

sk

40503640982.



2
40503640983. ~

40503640984, 2

'j-l_‘\-u'l'E
40503640985, =

Question Number : 60 Question Id : 40503611290 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
PSINY | HCOSY FhT =IAdH °HH % .

Options :

40503640982.
40503640983.

40503640984.

40503640985.

Question Number : 61 Question Id : 40503611291 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The integral

.n".-.
L " tan’x-sin”3x (2sec’x-sin?3x + 3tanx-sinéx)dx is

A

equal to :

Opti : i
ptions | gcollegedunlaé

7
40503640986, 18



i
9

40503640987,
=
2
40503640988,
J X
40503640989, 18

Question Number : 61 Question Id : 40503611291 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HHIA
jrﬁ tan®x-sin?3x(2secZx-sin?3x + 3tanx-sinbx)dx
FHAE :
Options :
7
40503640986, 18

WO | e

40503640987.

k3| o

40503640988.

40503640989.

Question Number : 62 Question Id : 40503611292 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Questio

Orientation : Vertical Il d .
Correct Marks : 4 Wrong Marks : 1 Eolgelsg‘demuwl‘lll:‘:l m



The area (in sg. units) of the largest rectangle
ABCD whose vertices A and B lie on the
r-axis and vertices C and D lie on the

parabola, y= 12 —1 below the x-axis, is :

Options :
2
40503640990, 33
1
3.3
40503640991 33
T
40503640992, V3
4
3
40503640993,

Question Number : 62 Question Id : 40503611292 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
39 a4 91 3AEd ABCD, forwek vitd fag A
T B, x-31%1 W foopd & en ¥ f9g C =D,
x-381 F A4, Waed y =221 R fem & =
B (I THEAi ) B

Options :
2
343
40503640990. 33
" d
343
40503640991. V3
4 ;
= gcollegedunlaé
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4
3
40503640993.

Question Number : 63 Question Id : 40503611293 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The solution of the differential equation

d_y y +3x
dx log.(y + 3x)

F3=101s:

(where C is a constant of integration.)

Options :
—1 +3x)=C
40503640004, ¥ 108y +3%)
—2 )=C
40503640995, X~ 2108y +3x)=C
1 2
x— —{log.iy +3x)} =€
40503640996. 2
1 .2
y+3x ;f_lnge,r} =C
40503640997. -

Question Number : 63 Question Id : 40503611293 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
HAaHA AR

ﬂ y+3x
dx loge(y + 3x)

F3=—0FBAT

(F21 C Us gH&ed A= 2 1)
Options :

40503640904, ¥ 108ely +31)=C
' gcollegeduniaé

I R >
40503640995, X~ 2108e(y+3x)=C



x — ~(log(y +3%))* =C

Fd | =

40503640996.

-

(logex)” =C

y+

Fd | =

40503640997.

Question Number : 64 Question Id : 40503611294 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If the perpendicular bisector of the line
segment joining the points P(1, 4) and
Q(k, 3) has y-intercept equal to —4, then a
valueof kis:

Options :

40503640998, V14

40503640999, 2

40503641000, V13

40503641001, —4

Question Number : 64 Question Id : 40503611294 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Afs fagad P(1, 4) 991 Q(k, 3) = THam e
TS F a9 HgHSTE H y-Ha.gue 4
AT UF AR

Options :

40503640998, V14

40503640999, 2

40503641000, V13
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40503641001, —4

Question Number : 65 Question Id : 40503611295 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The circle passing through the intersection
of the circles, x2+ yz— 6x=0 and
12+ yz —4y =0, having its centre on the line,
2x—3y+12=0, also passes through the
point :
Options :
40503641002, (I 73)

40503641003, (3 1)

40503641004, (—36)

-1,3
40503641005. (=1.3)

Question Number : 65 Question Id : 40503611295 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ﬁ?ﬁ x2+y?—6x=0 991 22 +y2—4y=0 *
Yiqeed a5 9 2 % S a1el 98 99 fadeh

F2, W@ 20 -3y +12=0 R fom g, FA 9
fafagafisiamme 92 :

Options :

40503641002, L 73

40503641003, (73 1)

osmoan. £ B collegedunia
~(-13)

40503641005



Question Number : 66 Question Id : 40503611296 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Let x =4 be a directrix to an eIIipse whose

centre is at the Grigin and ils cccen’rricit}-' 15

%. If P(1, B), B >0 is a point on this ellipse,

then the equation of the normal to it at PP

15 :
Options :
4% — =j
40503641006, X 3V =2
Ay — Py =
40503641007, X2y =1

40503641008, X — 2y =5

40503641009, /X 4 =1

Question Number : 66 Question Id : 40503611296 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

HFAT x = 4 Ueh UH 19 &1 Uah (4901 2, fora
ﬁﬂﬁﬁgﬁ%ﬁmmm%%l afg
P(1, B), B > 0, 30 a9 W feod ush fag 8,
TUF PR Wi T SAfue F gHE g

Options :
dx —3y=

I~

40503641006.
I
40503641007, X2y =1

40503641008, X —2y=5

40503641009, /X 4y =1
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Question Number : 67 Question Id : 40503611297 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The distance of the point (1, —2, 3) from

the plane x—y+z =5 measured parallel to
the line % — = —— 18

Options :

3
40503641010, 7

40503641011.

|

40503641012.

SIESE

40503641013.

Question Number : 67 Question Id : 40503611297 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fag (1, —2, 3) F A x—y+2z=5 T @@

X y S = * ~ r o]

S =2 = — & HHE A e g
2 3 -6 ~
Options :

3
40503641010, 7

40503641011,

40503641012, 7
b gcollegedunia@
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Question Number : 68 Question Id : 40503611298 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In a game two players A and B take turns
in throwing a pair of fair dice starting with
player A and total of scores on the two dice,
in each throw is noted. A wins the game if
he throws a total of 6 before B throws a total
of 7 and B wins the game if he throws a
total of 7 before A throws a total of six. The
game stops as soon as either of the players
wins. The probability of A winning the
game is :
Options :
5
40503641014, ©

5
40503641015, 31

31
40503641016, ©1

30
40503641017. 61

Question Number : 68 Question Id : 40503611298 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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e el § 2 figerst A 991 B = = | S
Tl % T F e €, Sl aers A T
AR FIAN €, T oI =) <1 9T WA
i1 =1 4 2 fa o ¥ afs B R e
T 9T % 3 1 A 7 A F U A G
Thep T 9TE] & a1 o1 A1 6 3 SIS, 91 A
e & WafE A R ek 0 9rEl % S @
M 6 AH F T2el, B §RI Teh T 9TH1 & 3HHi
o1 IF 7 3 90 2, o BStaa & | R oft v
figetrsl & Sfidd W a@a g el S e | A%
e T ST AT E
Options :

o |

40503641014.

40503641015, 31

31
40503641016, ©1

30
40503641017. ©1

Question Number : 69 Question Id : 40503611299 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The angle of elevation of a cloud C from a
point P, 200 m above a still lake is 30°. If
the angle of depression of the image of C
in the lake from the point P is 60°, then PC
(in m) is equal to :
Options :
40503641018, 100 Qcollegeduniaé

' e
40503641019, 200v3



40503641020, +00

40503641021. 10073

Question Number : 69 Question Id : 40503611299 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U T S 9t g & a9 200 =i F
FEE W o uF 9 P A uF ASea C W
IFA HIW 30° T | AfG C o el H wiatad #1
P | SSTHT HI 60° T, T PC (i #) T :
Options :

40503641018, 100

40503641019, 2003

40503641020, *00

4003
10503641021, 200V3

Question Number : 70 Question Id : 40503611300 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Contrapositive of the statement :

‘If a function fis differentiable at a, then it
is also continuous at a’, is :
Options :
[f a function fis continuous at a, then

40503641022, 18 differentiable at a.

If a function fis continuous at a, then ;
R collegedunia:
40503641023, 1t1s notditferentiable at a. AR s o



If a function fis not continuous at a,

40503641024 then it is not differentiable at a.

If a function fis not continuous at a,

40503641025. then it is differentiable at a.

Question Number : 70 Question Id : 40503611300 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
EXEN
‘Ifg U oM f,a W FaFGEE 8, T A a W
Haa o 2’
F1 WAATEHF oA T
Options :

Afg UF e  f,a W Had 8, 9 T8 a W
40503641022, FTFEHA T

IfE U FoF f,a T HTE €, 9 TE a W
40503641023, TR T2l ¢ |

If% T FeM f, a W HAd TE ¢, A A2 a
40503641024, T ST T T

If% T FeH £, a T HId TEl ¢, @ T8 a

40503641025, T STAHCTHA T

Sub-Section Number : 2
Sub-Section Id : 405036790
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 40503611301 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0
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If the variance of the fnllnwmg frequency

distribution :
Class : 10-20 20-30 30-40
Frequency : 2 x 2

is 50, then x is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 71 Question Id : 40503611301 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0

Eui : 10-20 20-30 30-40
AN : 2 x 2

HYFOI50 S, A x FHAA R

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 72 Question Id : 40503611302 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0

A test consists of 6 multiple choice
questions, each having 4 alternative
answers of which only one is correct. The
number of ways, in which a candidate
answers all six questions such that exactly
four of the answers are correct, is

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.002

Question Number : 72 Question Id : 40503611302 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

T T H 6 TgfaFed ¥ € a9 Ie4F W

F W & for 4 fowey ¥ o 9 Faa

& B U st g 9t 6 9eEi % I TE

WeR &4, AT 9 S 4 91 % 39 Tal &,

FAS R GEE |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 t0 5.002

Question Number : 73 Question Id : 40503611303 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Let {x} and [x] denote the fractional part

of x and the greatest integer = «x

respectively of a real number x. If
Parae "Bl d 10(n2
L} {x} dx, J{} [x] an (n“—n),

(ne N, n >1) are three consecutive terms

of a G.P., then n is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :
5 to 5.002 gcollegeduniaé

Question Number : 73 Question Id : 40503611303 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0



AT {x} T [x], 9 TF ardias &y F
o 9 a4 9e9H YU < x, W S9id

¥ ﬂﬁj{?{x} dx, J'{'; [x] dx F=10(n2— n),

(me N, n>1) TF TR g2 & o HAOT
T2 €, W n W HA B |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 74 Question Id : 40503611304 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Let PQ be a diameter of the circle x>+ y>=9.

If « and B are the lengths of the

perpendiculars from P and Q on the

straight line, x + y=2 respectively, then the

maximum value of aff is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 74 Question Id : 40503611304 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

HAT PQ I 22 +y> =9 &1 T =AM | Afg P
a9 Q ¥ Tl x +y=2 W Wi T waEi i
AT FHI: o TR T, A op T AfHa

mE
Response Type : Numeric gcollegeduniaé
Evaluation Required For SA : Yes India' targest Student Review Platform

Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText



Possible Answers :

5t05.002

Question Number : 75 Question Id : 40503611305 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If a = 2';' | J, | 2}, then the value of

—3 z,jl

¥ Va x-p)

Fa f— /2
I ‘Jr b ia X Jr|‘ I
2

‘;( % f; % ;() is equal to ___
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 75 Question Id : 40503611305 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

-

afe a=2i+j+2k 7 W

— A ]

2
i X \a X 1 I

< S T 3
| "j x {a x ';',I

' 2
‘;}x 5 x;})‘ FARE

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002
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